General Accessories & Spare Part - Adjustment Angle

SQ70XXX 20 SQIOXXX
7. 20
— =
Sg ] d s
o B o 193 o B 3
NOAEH T & o - = v P -
“H‘H‘} = 71T§(7é | T T T T "l“r’g
s W HHIEIHIE R
70 ACAC
90
35:0 30
8 E 9060
o 15| 30
Model No. A B C Description
SQ70SF1, SQ90SF1 @ 8H7 29 29 Pins @8H7 and through holes on both sides
SQ70SF2, SQ90SF2 @ 8H7 M8 M8 Pins @8H7 and threaded holes on both sides
SQ70SF3, SQ90SF3 @ 8H7 M8 29 Pins @8H- through h. 1side + threaded h. 1side
SQ70PF1, SQ90PF1 o7 29 29 Pre-holes @7 and through holes on both sides
SQ70PF2, SQ90PF2 o7 M8 M8 Pre-holes @7 and threaded holes on both sides
SQ70PF3, SQ90PF3 27 M8 29 Pre-holes @7- through h. 1 side + threaded h. 1 side

General Accessories & Spare Part - Adjustment Shims

SP70XX SP90XX

15

15

50

15
15
65

WL LYy

R4.5

R4.5

15

12.5

12.5

Model No. H [mm]

SP7005, SP9005 0.5
SP7010, SP9010 1.0
SP7015, SP9015 1.5
SP7020, SP9020 2.0
SP7030, SP9030 3.0

®
.s’MPRo www.steelsmith.com STEEL-SMITH



